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In  connection  to  this  office  Notification  No.  02/2024,  dated  05.03.2024,  the  written

examination for selection to fill up 01 (UR-01) vacancy of Junior Engineer (TRD) in Pay Level-6
against  25%  IMA  Quota  of  the  Electrical  Department  of  TRD  wing  has  been  conducted  on
15.04.2024.

As per extent provisions, Answer key of the aforesaid examination is hereby published for
information.

However, candidates may also download the answer key from the official SECR website
(secr.indianrailways.gov.in>Dept/Div  of  SECR>Division>Nagpur> Personnel>Answer Key).
Further, candidates are advised, if require submit representations against the questions including the
optional  answer  in  objective  questions  and  answer  key  alongwith  supportive  proof/documents
within  03  (Three)  working  days  i.e.  18.00  hrs  of  19.04.2024  in  the  office  of  the
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will not be considered after 19.04.2024. If no representations are received in the specified period, it
will be assumed that the concerned staff has no objection with the question paper & answer key for
the instant selection. 
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2. Answer Key of exam dtd. 15.04.2024.
3. Question Paper of exam dtd. 15.04.2024. 
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for Sr.DPO/SECR/NAG

Copy to:- Ch.OS/Cadre-II of Sr.DPO’s office for information and it is advised to publish it widely
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‭Annexure-1‬

‭Proforma for submitting representation against the question(s)/answer(s)‬
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‭2. PF/NPS No ……………………………………………‬
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‭Brief‬‭remarks‬‭along‬‭with‬‭relevant‬‭rules‬‭supporting‬
‭the claim‬
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Answer Sheet of Examination for Selection of the post for Junior Engineer (TRD) in PML-6 against 
25% IMA quota of the Electrical Department of TRD wing conducted on 15.04.24. 

Q.No Answer Q.No Answer Q.No Answer 
1. b 51 b 101 C 
2. b 52 b 102 a 
3. b 53 b 103 a 
4. C 54 d 104 C 
5. b 55 C 105 C 
6. a 56 a 106 C 
7. a 57 a 107 b 
8. C 58 b 108 b 
9. C 59 a 109 a 
10. b 60 d 110 d 
11. b 61 C 
12. a 62 a 
13. d 63 C 
14. C 64 b 
15. d 65 a 
16. b 66 C 
17. d 67 b 
18. a 68 d 
19. C 69 a 
20. a 70 a 
21. C 71 C 

22. C 72 C 

23. a 73 b 
24. b 74 b 
25. d 75 b 
26. d 76 C 

27. b 77 b 
28. d 78 b 
29. C 79 a 
30. d 80 b 
31. C 81 C 

32. b 82 b 
33. d 83 b 
34. b 84 C 

35. C 85 C 

36. b 86 a 
37. C 87 C 

38. a 88 d 
39. d 89 C 

40. C 90 C 

41. a 91 b 
42. C 92 C 

43. C 93 a 
44. d 94 b 
45. C 95 b 
46. a 96 b 
47. b 97 b 
48. C 98 C 

49. b 99 d 
50. b 100 C 



SOUTH EAST CENTRAL RAILWAY 

NAGPUR DIVISION 

 

टीआरडी व िंग के व द्यतु व भाग के 25% IMA के लिए पीएमएि-6 में जूनियर इिंजीनियर 
(टीआरडी) पद के चयि के लिए लिखित परीक्षा। 

Written Examination for Selection of the post for Junior Engineer (TRD) in PML-6 against 

25% IMA quota of the Electrical Department of TRD wing. 

 
Date of Exam: - 15-04-2024  Time: - 02 hrs.                   Total Marks: - 100 

 

General Instructions to candidates appeared for written examination 

 
  

1. Use of unfair means will lead to cancellation of candidature. 

2. The question paper will have to contain 110 questions. Out of which 100 will 

have to be answered. The duration of the examination will be 120 minutes. 

3. There will be negative marking @ 1/3rd for a wrong answer. 

4. During the examination, any electronic devices (mobiles, smart watches, 

calculators, etc.) are not allowed.  

5. In case of any discrepancy or error in the question paper, the English 

version of the question should be considered as authentic.  

6. Answer key of the exam will be uploaded on official website of SECR 

(secr.indianrailways.gov.in>Dept/Div of 

SECR>Division>Nagpur>Personnel>Answer Key) after completion of 

exam. 
 

 

अभ्यर्थी के लिए सामान्य अनदुशे 

 

 

1. अनलुित साधनों का प्रयोग करन ेपर उम्मीदवारी लनरस्त कर दी जाएगी। 

2. प्रश्न पत्र में कम स ेकम 110 प्रश्न होन ेिालहए। लजनमें स े100 का जवाब दनेा होगा । परीक्षा 

की अवलध 120 लमनट होगी ।  

3. गित उत्तर के लिय े1/3rd नेगटेटव अंक हैं ।  

4. परीक्षा के दौरान मोबाईि बदं रख ेऔर कैिकुिटेर के उपयोग की इजाजत नहीं है । 

5. प्रश्न पत्र में कोई लवसंगलत या त्रुटट होन ेकी लस्र्थलत में प्रश्न के अगं्रेजी ससं्करण को प्रामालनक 

माना जायगेा । 

6. परीक्षा की उत्तर कंुजी परीक्षा के परूा होन े के बाद SECR की आलधकाटरक वबेसाइट 

(secr.indianrailways.gov.in>Dept/Div of 

SECR>Division>Nagpur>Personnel>Answer Key) पर अपिोड की जाएगी । 



1 
vujsxqysV vks-,p-bZ- ds liksZV IokbZV ij dkWaUVsDV okWa;j dh lkekU; mWapkbZ 4 fMxzh lsUVhxzsM ls 65  fMxzh 
lsUVhxzsM ij fdruh gksrh gS A 
 What is the normal height of contact wire at support point for unregulated OHE for temp range 4´C to 65' C 

                   (a) 5.70 mtrs (b) 5.75 mtrs. 

                  (c) 5.60 mtrs. (d) 5.65 mtrs. 
 

2. 
ysoy dzkflax ij gkbZV xst dh mWapkbZ fdruh gksrh gS ? 
What is the Height of the “height gauge” at level crossing? 
                 (a) 4.65 mtrs. (b) 4.78 mtrs. 

                (c) 4.75 mtrs. (d) 4.92 mtrs. 
 

3 
VsUtsUV Vz~sd ij  dkWaUVsDV okWa;j dk LVz~sxj gksuk pkfg, & 
Stagger of contact wire on tangent track should be 

                   (a) +/- 250 mm (b) +/- 200 mm 
                   (c) +/- 150 mm (d) +/- 300 mm. 

 

4 

vkscyhxsVksjh LVz~Dpj@ ekLV tks fd ,d ls vf/kd vks-,p-bZ- dks liksZV djrk gks- dk fefuee bEkIykuVs’ku fdruk gksuk 

pkfg, ? 

What will be minimum implantation at obligatory structure/mast supporting more than one OHE. 
                     (a) 2.5 m. (b)2.75 m. 

                    (c) 3 m. (d)3.2 m. 
 

5 FOB/ROB/Girders/ Bridges/ Platform Shed ,oa other overline  structure dk vFkZ jsftLVsal fdruk gksuk pkfg, ? 
What is the value of earthling resistance of FOB/ROB/Girders/ Bridges/ Platform Shed & other over line structure   

                   (a) 2 Ohms. (b)10 Ohms. 
                   (c) 4 Ohms.  (d)5 Ohms. 

 
6 

ओएचई मɅ दो 25 केवी, एकल चरण, 50 हɪ[ज के Ǔनकट ĚैÈशन सबèटेशनɉ के बीच एक तटèथ खंड Ĥदान ͩकया जाता है? 
A neutral section is provided in OHE between two 25 kV, single phase, 50 Htz near traction substations due to? 

        (a)  To separate the zones, which fed by the    adjacent 
substation of different phase   (दो ज़ोन को अलग करने के 
ͧलए, जो अलग-अलग चरण के सब-èटेशन ɮवारा आपूǓत[ करते 
हɇ) 

(b) To increases the current carrying capacity of the OHE (OHE 
कȧ वत[मान ͪवɮयुत धारा ¢मता को बढ़ाना) 
 

        (c)  To minimize the voltage drop in OHE conductors    

( ओएचई कंडÈटरɉ मɅ वोãटेज Ĝॉप को कम करने के ͧलए) 
   

(d)  All of the above (ऊपर के सभी) 
 
 

7 
jsxqysVsM vks-,p-bZ- dh lkekU; f’kfFkyrk gksrh gS & 
Normal sag of regulated OHE is - 
                    (a) 100 mm. (b) 50 mm. 

                   (c) 75 mm  (d) 40 mm. 
 

8 
lh Dykl vks-Mh-lh- dks ikl djkus ds fy, fefuee dkWYVsDV gksuk pkfg, & 
Minimum contact height to pass ‘C’ class ODC 
                 (a)4.50 m. (b) 4.75 m. 

                (c)4.92 m. (d) 5.96 m. 
 

9 
vksoj ysfiax VkbZi ds U;wVz~y lsD’ku dk yksds’ku LVki flxuy ds ckn gksrk gS & 
The location of Over Lapping type Neutral Section after stop signal is - 
                 (a)1000 m. (b) 1500 m. 

                (c)1600 m.  (d) 2500 m. 
 

10 
PTFE VkbZi ds U;wVz~y lsD’ku dk yksds’ku LVki flxuy ds ckn gksrk gS & 
The location of PTFE type Neutral Section after stop signal is 
               (a)200 m. (b) 400 m. 

              (c)1600 m.  (d) 2500 m. 
 

11 
25 KV SP/DP vkbZlksysVj dh vkbZ-vkj- osY;w gksrh gS & 
IR value of 25 KV SP/DP Isolator is 
             (a)100 mega ohms. (b) 500 mega ohms. 

             (c)250 mega ohms.  (d) 400 mega ohms. 
 

12 
iwjh rjg ls pktZ dh xbZ cSVz~h ds bysDVz~ksykbZV(27 degree C) dh LisflfQd xzsfoVh gksrh gS & 
Specific gravity (27-degree C) of electrolyte of fully charged battery is 
                  (a)1.210.  (b) 1.240 

              (c)1.250  (d) 1.220 
 



17 
ikWoj QsDVj ds lanHkZ esa fuEufy[khr es ls dkSu lk LVsVesaV xyr gS & 

Which of the following statement is incorrect for power factor 
                           (a) Real power / Apparent power (b) KW/ KVA 
                      (c) Resistance/  Impedance 

 
(d) Conductance/ Suspectance 
 

18 
bysDVz~hd Qk;j@ vkx dh ?kVuk esa  gesa mi;ksx djuk pkfg,  

In case of electric fire, we can use 
(a) Dry sand (b) Wet sand 

                  (c)   Carbon powder (d)   Water 

19 
100 okV rFkk 250 oksYV ds ySEi dk jftLVsal gksrk gS & 

The resistance of 100-watt, 250 V lamp is 
                  (a) 25000 ohms (b) 625 ohms 
                  (c) 0.4 ohms (d) 2.5 ohms 

20 
एसी ĚैÈशन मɅ , èपैन कȧ लबंाई चरणɉ मɅ ͧभÛन होती है? 
In AC traction, span length varies in steps of 

                   (a) 4.5 meters (b) 9 meters 
                   (c)  6 meters (d)  18 meters 

21 
Ĥ×येक tension length के अंत म¤ िकस ÿकार का ओवरलैप बनता है ? 
Which type of overlap is formed at the end of every tension length 

                 (a) Insulated overlap (b) Un-insulated overlap 
                (c) Either Insulated overlap or un-insulated 

overlap. 
(d) None of the above 

22 
रेड जोन के ͧलए ओएचई सरंचनाओं को ͫडजाइन करने के ͧलए अͬधकतम हवा के दबाव पर ͪवचार ͩकया जाता है 
Maximum wind pressure is considered to design OHE structures for Red zone 

                 (a) 180 kgf /sq. m. (b) 160 kgf /sq. m. 
                 (c) 150 kgf /sq. m. (d) 110 kgf /sq. m. 

23 
Turnout कȧ अǓनवाय[ सरंचना पर, Encumbrance देना सामाÛय है 
At obligatory structure of turnout, it is general practice to give encumbrance 

                (a) 1.4 m. turnout OHE & 0.9 m main line OHE (b) 0.9 m. turnout OHE & 1.4 m main line OHE 
                 (c) 1.4 m. turnout OHE & 1.4 m main line OHE (d) 0.9 m. turnout OHE & 0.9 m main line OHE 

24 
yhM ,lhM lsy dh ,Eih;j voj ,Qh’ksUlh gksrh gS & 

The ampere hour efficiency of a lead acid cell is 
                 (a) 80 % (b) 90 % to 95 % 
                 (c) 72% to 80 % (d) 85 % 

25 
lsy dh LisflfQd xzsfoVh dks ekik tkrk gS & 

The specific gravity of cell is measured by 
                 (a) voltmeter (b) cell tester 

                 (c) multimeter (d) hydrometer 

   26 
cSVz~h dh jsfVax dks n’kkZ;k tkrk gS & 

The rating of batteries is given by 

13 TSS dk vFkZ jsftLVsal gksuk pkfg, &Earth resistance of TSS should be - 
             (a) 1 ohm. (b) 1.5  ohms.  
             (c) 2 ohms  (d) 0.5 Ohms 

14 iksjVy ekLV ds fy, izR;kjksi.k ( Implantation ) csgrj gksrk gS & 
The Implantation for Portal mast is preferable to 
               (a) 2.5 m.  (b) 2.75 m. 

             (c) 3 m.  (d) 3.5 m. 
 

15 
IysVQkeZ ij U;wure izR;kjksi.k ( Implantation ) fdruk gksrk gS ? 
What is the minimum implantation on Platform? 
               (a) 3.75 m. (b) 4.0 m. 

               (c) 4.50 m.  (d) 4.75 m. 
 

16 
E.M.F dh ;wfuV gksrh gS & 

The unit of E.M.F. is 
                    (a)  ohm (b)  volt 
                    (c)  ampere  (d) None of the above 

 



                 (a) KW (b) KVA 
                 (c) VARH (d) ampere hours 

27 
lsYl dks fljht esa tksMk tkrk gSa & 

The cells are connected in series to 
                 (a) Increase the current output 
          djaV ds vkmViqV dks c<kus ds fy,  

(b) Increase the voltage output 
oksYVst ds vkmViqV dks c<kus ds fy, 

                 (c) Decrease the internal resistance 
           baVjut jsftLVsal dks ?kVkus ds fy,  

(d) Decrease the amount of charging voltage 
pkftZax oksYVast dh ek=k dks ?kVkus ds fy,  

28 
yhM ,lhM cSVz~h dk daVsuj fdlls cuk gksrk gS & 

Container of a lead acid battery is made of - 
                 (a) moulded hand rubber (b) ceramics 
                 (c) celluloid (d) any of the above 

29 
fuEufy[khr esa ls dkSu eksVj dks vksoj yksfMax ls lqj{kk djrk gS & 

Which of the following protects a motor from over loading 
                 (a) earth wire (b) neutral wire 
                 (c) starter (d) fuses 

30 
ikoj QsDVj ds lq/kkj gsrq dsisflVj ds lanHkZ esa eqY;kafdr fd;k tkrk gSa & 

The capacitor for power factor correction are rated in terms of - 
                 (a) voltage (b) KA 
                 (c) KW (d) KVAR 

31 
,d Fkzh Qst ds cSysal yksM esa U;wVz~y ok;j esa djaV gksxk & 

In AC traction, how many droppers in 58.5 m span length? 
                 (a) 9 droppers (b) 8 droppers 
                 (c) 7 droppers (d) 6 droppers 

32 
Mh-lh- ‘kaV eksVj dk eq[; xq.k?keZ gksrk gS & 

The main characteristic of a D.C. shunt motor is. 
                 (a) high torque (b) constant speed 
                 (c) very low starting torque (d) none of these 

33 
ekuo ‘kjhj dk izfrjks/k &&&&&&&&ds &&&&&&&&& chp esa gksrk gS A 

The resistance of a human body lies between 
                 (a) 100 Ω - 200 Ω (b) 5 kΩ - 50 kΩ 
                 (c) 1 mΩ - 10 MΩ (d) 1 x 105Ω - 5 X 105Ω. 

34 
107 वग[ ͧममी  नये तार का åयास है ? 
Diameter of new 107sq mm wire is 

                    (a) 16.36 mm (b) 12.24 mm 

                (c) 10.55 mm 
 

(d) 8.25 mm 
 

35 
vyVjusVj dks jsVsM fd;k tkrk gS & 

Alternator is rated in 
(a)  HP (b)   KW 

                  (c)   KVA (d)   Ohms  

36 
LVkj dusD’ku esa ykbZu okasYVst ,oa Qst oksYVst ds chp esa laca/k gksrk gS & 

In star connection the relation between line voltage and phase voltage is  
                  (a)Line voltage = phase voltage (b)Line voltage =  3 phase voltage 

                  (c) Line voltage = 2 x phase voltage (d) None of these. 

37 
Vz~kalQkjej dk oksYVst gksrk gS & 

Voltage of a transformer is  - 
                  (a) 90 0  out of phase (b) in the same phase 

                  (c) 180 0 out of phase (d)  None of the above 

38 
dscy ds bUlqys’ku ds VwVus dks fuEukuqlkj dgk tk;sxk & 

The breakdown of the insulation of the cable will be termed as - 
                   (a) Earth fault (b) Short circuit fault 
                   (c) Open circuit fault (d)   (a) or (c) 

39 सपंक[  तार को पूरे ͪवèतार कȧ लंबाई मɅ िज़ग-ज़ैग तरȣके से रखा जाता है, Èयɉ ? 



Contact wire is placed in zig- zag manner in entire span length, why 
    (a) To avoid formation of groove on pantopan strip           

(पɇटोपान पɪटȣ पर खांचे के गठन से बचने के ͧलए) 
(b) Uniform rubbing of pantopan strip within current 
collection zone (current collection ¢ेğ के भीतर पɇटोपान पɪटȣ कȧ 
समान रगड़ ) 

   (c) To avoid breakdown due to formation of groove in 
pantopan strip (पɇटोपान पɪटȣ मɅ खांचे बनने के कारण 
टूटने से बचने के ͧलए) 

(d) All of the above (ऊपर के सभी) 

40 
ͪवǓनयͧमत ओएचई मɅ, जब तापमान बढ़ रहा हो OHE कंडÈटरɉ मɅ तनाव Èया होगा ? 
In regulated OHE, when temperature increased than tension of OHE conductors- 

                 (a) Increased (b) Decreased 
                 (c) Remains same (d) Cannot say 

41 
AC ĚैÈशन मɅ, इंसुलेटेड ओवरलैप मɅ दो OHE के कंडÈटर के बीच कȧ दरूȣ रखी जाती है- 
In AC traction, distance between two OHE’s conductor in insulated overlap is kept- 

                 (a) 500 mm. (b) 380 mm. 
                 (c) 300 mm. (d) 200 mm 

42 
,d fczt jsDVhQk;j cuk gksrk gS & 

A bridge rectifier consists of  - 
                 (a) One diode (b) Two diodes 
                  (c) Four diodes (d) Two transistors 

43 
Đॉस ओवर स ेमुÉय लाइन तक पɅटो कȧ आवाजाहȣ के दौरान, take-in होना चाǑहए? 
During the movement of panto from cross over to main line, take-in 
Should be within 

                 (a) 400 mm (b) 450 mm 
                  (c) 650 mm (d) 900 mm 

44 
Mh-lh- e’khu esa deqVsVj dk dk;Z gksrk gS & 

The function commutator in D.C. machine is- 
           (a) to change alternative current to a direct current (b) to improve commutation 
           (c) for easy control (d) to change alternative voltage to direct voltage 

45 1500 मीटर टɅशन लंबाई मɅ ͩकतने "सी" जपंस[ का उपयोग ͩकया जाता है- 
How many “C” jumpers are used in 1500 m tension length 

                 (a) 1 no  (b) 4 nos 
                 (c) 3 nos (d) None of the above. 

46 
fctyh ds >Vds dh xaHkhjrk fuHkZj djrh gS & 

The Severity of electric shock depends upon.   
                  (a) Amount of current flow through the body (b) System voltage 
                 (c) Body resistance (d) None of the above 

47 
आयाम C & D ͩकसकȧ िèथǓत तय करता है ? 
Cantilever dimensions namely A,B,C,&D, fixes position of various clamps to get the required position of catenary 
& the contact wire. The dimensions C&D fixes the position of 

                 (a) Catenary wire (b) Contact wire 
                 (c) Both catenary & contact wire (d) Neither catenary & contact wire 

48 
OghV LVksu czht dk mi;ksx ekius ds fy, fd;k tkrk gS & 

Wheat stone bridge is used to measure.   
                 (a) Current (b) Voltage 
                 (c) Resistance (d) Power 

49 
Q;wt ds fy, mi;ksx dh tkus okyh lkekxzh gS & 

The material used for fuse must have- 
              (a) Low melting point and low specific resistance (b) Low melting and high specific resistance 
              (c) High melting point and low specific resistance (d) Low melting point & any specific resistance. 

 

50 
Vz~kalQkjej esa iz;qDr rsy esa ueh ls eqDr gksuk pkfg, D;ksafd & 

The oil used in the transformer should be free from moisture because 



             (a) Moisture will reduce the density of the oil 
which is Slightly undesirable (ueh rsy ds ?kuRo dks 
de djs nsxh tks vokaNuh; gSa) 

(b) Moisture will reduce the dielectric strength of the oil and 
 hence insulation is weakened. (  ueh rsy ds MkbZ bZysDVz~hd 
LVzsUFk dks de djrk gS ) 

(c) Moisture will reduce the lubricating property of 
the oil ( ueh rsy dh Lusgd x.k/keZdks de dj nsxh  ) 

(d) Moisture will develop rust. (   ueh dh otg ls tax dk 

fodkl gksxkA ) 

51 
VzkalQkjej ;k fo|qr e’khuksa ds fMtkbuksa esa bUlqys’ku dh vko’;drk ds }kjk fu/kkZfjr dh tkrh gS & 

The requirement of the insulation in transformer or electrical machines design is determined by. 
                 (a) Current (b) Voltage 
                 (c) Rate of change of the current (d) Power 

52 Ħैकेट ɪयबू का आकार (भीतरȣ åयास/बाहरȣ åयास) ? 
In cantilever assembly large size of bracket tube ( i.e. inner dia /outer dia) 

                 (a) 30 /38 mm (b) 40 /49 mm 
                 (c) 28.4 /33.7 mm (d) 25 /30 mm 

53 "O" Ĥकार के पोट[ल का आकार ? 
Size of “O” type portal 

                 (a) 450 x 450 mm (b) 550 x 550 mm 
                 (c) 300 X 300 mm (d) 600 x 600 mm 

54 
ओएचई को टȣटȣसी mast पर , अͬधकतम दरूȣ तक सपोट[ ͩकया जा सकता है ? 
OHE can be supported on TTC mast up to the maximum distance from the upright is 

                 (a) 4.5 m (b) 6 m 
                 (c) 9.5 m (d) 10.5 m 

55 AC ĚैÈशन मɅ फाउंडशेन का सहȣ आकार चुनने के ͧलए ͩकस अंक के कोड का उपयोग ͩकया जाता है ? 
Which digit code is used to choose the correct size of foundation in AC traction 

                 (a) One digit code (b) Two-digit code 
                 (c) Three-digit code (d) Four-digit code 

56 रेल èतर और नींव के शीष[ के बीच कȧ ऊÚवा[धर दरूȣ को कहा जाता है ? 
Vertical distance between the rail level & top of foundation is known as 

                 (a) Cess level (b) Encumbrance 
                 (c) Safety distance (d). None of the above 

57 
MsYVk dusD’ku esa ykbZu oksYVst ,oa Qst oksYVst esa laca/k gksrk gS & 
In delta connection the relation between line voltage and phase voltage is 

                 (a) Line voltage = phase voltage (b) Line voltage =  3 phase voltage 
                 (c) Line voltage = 2 x phase voltage (d) None of these. 

58 
Vz~kalQkjej ds dkij ykWal dks fu/kkZfjr fd;k tkrk gS & 

Copper loss of a transformer is determined by 
                 (a) By open circuit test (b) Short circuit test 
                 (c) Earth test (d) None of these 

59 
Vz~kalQkjej ds vk;ju ykWal dks fu/kkZfjr fd;k tkrk gS & 
Iron loss of a transformer is determined by 

                  (a) By open circuit test (b) Short circuit test 
                  (c) Earth test (d) None of these 

60 
ekbZdk dk mi;ksx Vh-,y- Qsu deqVsVj ds lsxesaV ds e/; fd;k tkrk gSa D;ksfd & 

Mica is used between the segments of a TL fan commutator because. 
                 (a) To loose fan weight (b) To increase fan winding weight 
                 (c) Highly inflammable material (d) Insulating material and fire proof 
61 PTFE dk iwjk foLrkj gksrk gSa & 

The expansion of PTFE is - 
                 (a)  Poly tri flash element  (b) Panto touching fast element 
                 (c) Poly Tetra Floro Ethylene (d) None of the above.  

 

62 
fdlh daMDVj ds izfrjks/k dks de djus ds fy, izfrjks/k dks dkSu ls dusD’ku esa yxk;k tkuk pkfg, ? 
To decrease the resistance of any conductor, a resistance will be connected in which connection ? 

             (a) Parallel (b) Series  



              (c) Series Parallel  (d)    (b) & (c) 

63 
fdlh NksVs lc LVs’ku ds vFkZ jftLVsal (izfrjks/k) dh vf/kdRre Lohdk;Z oSY;w fdrus vksge gksrh gSa ? 
The maximum permissible value of earth resistance for a small substation is how much Ohms? 

                 (a) 1 Ohms (b) 3 ohms 
                 (c) 2 Ohms (d) 4 Ohms  

64 
Ogh-,y-vkj-,- dk  iwjk foLrkj gksrk gSa 

 The expansion of  VRLA is  
                 (a) Voltage regulated Limit Apparatus (b) Valve Regulated Lead Acid 
                 (c) Volume related limit act (d) None of the above  

65 
vkbZ-bZ- ds fu;e ds vuqlkj ijfelfcy osfj,’ku fQzDosUlhfdrus izfr’kr gksuh pkfg, ? 
According to I.E. rule the permissible variation of frequency should be how much percentage? 

                 (a) 3 % (b) 5 % 
                 (c) 8 % (d) 15 % 

66 
,d yhM ,lhM lsy ds fuekZ.k es ges’kk &&&&&&&&&&&&&&&& uEcj dh IysVl yxkbZ tkrh gS A 
A lead acid cell always consist of -------------------------number of plates. 

                 (a) Even (b) Odd  or even 
                 (c) Odd (d) None of the above  

67 
tc fdlh fo’kky ba.MDVj dks fdlh ,-lh- lfdZV esa tksMk tkrk gSa rks ikWaoj QsDVj &&&&&&&&gksrk gSA 
When a huge inductor is connected in an A.C. circuit, the power factor is  ____________ 

                 (a) High (b) LOW 
                 (c) Medium  (d) LOW & High both 

68 
Ǔनàन मɅ से कौन ऑटो - ǐरसेट नहȣ है - 

Which of the following is not auto-reset type 
           (a) OCR - T (b) DPR  
           (c) WPC (d) ITR 

69 
टȣएसएस मɅ पावर Ěांसफाम[र का उपयोग ͩकया जाता है ? 
Power Transformer used in TSS are 

                 (a) Step down (b)Step up 
                 (c) Both type (d) None of the above. 

70 
oksYVehVj dk vkarfjd jftLVsl &&&&&&&&&&&&&&&&&&&&&&&&&&&& gksrk gS A 

The internal resistance of an voltmeter is _ _________. 
                (a) High (b) Low 
                 (c) Medium  (d)  Low & Medium  

71 
fdlh daMDVj ds lexz Mk;ehVj dks c<k;k tk;s ;fn mldk oksYVst de gks tk;s mlh &&&&&&&&& ds fy, A 

The overall dia. of conductor increases if the voltage is lowered for same ------------------ 
                 (a) Resistance  (b) Length 
                 (c) Current (d) None of the above 

72 
LT  dscy dk xzsfM,’ku &&&&&&&&&&&&&&&&&& gksrk gS A 

Gradation of LT cable is __ _____________. 
                 (a) 1000 Volt  (b) 1200 Volt  
                 (c) 1100 Volt (d) 980 Volt 

73 
CTD   एक इंटरलॉक åयवèथा है - 

CTD is an interlocking arrangement? 
a) कथन अस×य है (False) 

 
(b) CB ǑĚप तथा 110 वोãट कंĚोल सÜलाई 

              (c) CB ऑपरेशन काउंटर तथा ऑटोǐरÈलोजर (d) हाई- वोãटेज तथा आलाम[ 

74 
ykbZVfuax vjsLVj dk mi;ksx gSoh djaV dks ckbZikl djus gsrq fd;k tkrk gSa dkSu lh ?kVuk ds djaV gsrq A 

Lighting arrestor is used to bypass the heavy current in case of _ current. 

              (a) Short circuiting (b) Surge 
              (c) Difference  (d) Earth Fault  

 

     75 
Ěांसफाम[र के Ěांसफाम[र तेल का डीजीए परȣ¢ण ͩकस ͪवæलेषण के ͧलए। 

DGA testing of Transformer done of transformer oil for analysis of. 
                 (a) Transformer external fault (b) Transformer Internal fault   



                 (c) Both  (d)   None of these 

76 
bysDVz~ksykbZV dks cukrs le; lYkQ;wfjd ,flM esa ikuh feyk;k tkrk gS ;g dFku lR; gS ;k vlR; 

Water is added to the sulphuric acid while preparing electrolyte this sentence is true or false  
                 (a) True  (b)  10% True & 90% False 
                 (c) False (d) 10% False  & 90% True 

77 
SCADAdk foLrkj fy[kh;s  

Write the expansion of SCADA 
                   (a) Supervisory Contact and Data Acquisition (b) Supervisory Control and Data Acquisition 
                   (c) Section control and data acquisition (d) None of the above  

78 
tesaZfu;e vkSj flfydkWau izeq[k v/kZpkyd gSa tks Vz~kaftLVj ds fuekZ.k esa mi;ksx fd, tkrs gS A  

Germanium and silicon are the principal semiconductors which are used in the construction of 
transistors 

                 (a)  False (b) True 
                 (c) True & False both (d) Can not say 

79 DPR relay is used in TSS for @DPR ǐरले का उपयोग TSS म¤ िकसके िलए िकया जाता है? 
                 (a) OHE protection  (b)  Transformer Protection  
                 (c) Both Protection (d) None of the above  

80 
Vz~kalQj ftldh lsds.Mjh ‘kkVZ lfdZV gks mlds bZuiqV dh izk;ejh dh otg ls vk;ju ykWalsl gksrk gS A 
The input to primary with secondary short circuited of the transformer gives the iron losses 

                 (a) TRUE (b) FALSE 
                 (c) TRUE & FALSE  (d) None of the above 

81 
,d gkbZ vFkZ jftLVsal bysDV~zhd buLVkys’ku ds fy, vPNk gksrk gSa  

A high earth resistance is good for an electrical installation 
                 (a) True  (b)  10% True & 90% False 
                 (c) False (d) None of the above  

82 
CRIS dk iwjk foLrkj fy[kh;s 

Write the expansion of  CRIS 
                 (a) Control for Information System (b)Center for Information System 
                 (c) Contact for Intelligence  System (d) None of the above. 

83 
jsxqysVsM vks-,p]bZ] esa -------------- ,UVh fdzi IokbZV gksrs gS  

In regulated OHE at ---------- anti creep point is provided 
                 (a) Starting of lap (b) Midway of Tension 

                 (c) End of the lap (d) None of the above  

84 
OHE dk NksVs ls NksVk fgLlk ftls TPC ds fjeksV daVz~ksy ds }kjk vkbZlksysV fd;k tk ldrk gSa mls dgrs 
gS  

The shortest section length of OHE which can be isolated through remote control by TPC is known as-- 
                 (a) Elementary section (b) Sector 
                 (c) Sub Sector (d) None of the above 

85 
The distance of OHE section between FP & SP is called as  - 
FP & SP ds chp ds vks-,p-bZ- lsD’ku dks dgrs gS & 

                 (a) Sub Sector  (b) Neutral Section  
                 (c) Sector (d) None of the above  

86 
SSP & SSP  ;k SSP & SP  ds chp ds vks-,p-bZ- lsD’ku dks dgrs gS & 

The distance of OHE section between SSP & SSP  or  SSP & SP  is called as - 
                (a) Sub sector (b) Sector    
                (c) Neutral Section  (d) None of the above  

87 
The fitting which is used to transfer the weight of the contact wire to the catenary wire is called--- 
 dkWUVsDV okWa;j ds Hkkj dks dsVsujh okWa;j esa LFkkukarfjr djus okyh fQfVax dks dgrs gS & 

                (a) Stay arm   (b) Register arm   
               (c)Droppers (d) None of the above. 

88 OHE liksZV ds dsVsujh ,oa dkWUVsDV okWa;j ds chp dh nwjh, ojVhdy Iysu esa dgk tkrk gS & 

Distance between catenary and contact wire of OHE support, in vertical plane is called ---- 
                 (a) Span Length   (b) Implantation 
                 (c) Staggering   (d) Encumbrance 



89 dkWUVsDV okWa;j dk vf/kdRre LVz~sxj gksrk gS & 

Maximum stagger of contact wire is ---- 
                 (a) 150 mm (b)  400 mm 
                 (c) 300 mm (d) None of the above. 

90 dkWUVsDV okWa;j dzkl lsD’ku ,fj;k gksrk gS & 

Cross section area of contact wire is --- 
                 (a) 100 mm2 (b) 105 mm2 
                (c)  107 mm2 (d) None of the above  

91 Mz~kij dk MkbZehVj (O;kl) gksrk gS & 

Diameter of dropper is ----- 
                 (a)  3mm (b) 5 mm 
                 (c) 6 mm (d) None of the above 

92 dkWUVsDV okWa;j esa dkSu lk eVsfj;y dk mi;ksx fd;k tkrk gS ? 
Which material is used in contact wire  ? 

                 (a) Soft Copper (b) Galvanised zinc 
                 (c) Hard Copper (d) None of the above  

93 tc fdlh yhM ,lhM cSVz~h dk mi;ksx ugha fd;k tkrk gSa rks mls varjky esa pktZ fd;k tkuk pkfg, & 
Even when not in use a lead acid battery should be recharged once in 

                 (a) 6 weeks (b) 3 months 
                 (c) 6 months (d) 1 year. 

94 एलए का आईआर मान एचटȣ-ई के ͧलए अͬधक होना चाǑहए ? 
IR value of LA is more that for HT-E (LV side) 

                 (a)  2 G Ohm (b) 1 G Ohm 
                (c) 4 G Ohm (d) None of the above. 

95 LA का IR मान िकस उपकरण Ĭारा मापा जाता है ? 
I R value of LA measured by 

                 (a) 3.5 KV Megger (b) 2.5 KV Megger 
                 (c) 2.8 Kv megger (d)  None of these 

96 vkesZpj dksj cuk gksrk gS & 

Armature cores are made of - 
                 (a) Iron (b) silicon steel 
                 (c) high carbon steel (d) None of these 

97 ;fn ,d 60 okV ,oa 100 okV ds cYc dks fljht esa fdlh lkslZ vkWQ lIykbZ ls tksMk tkrk gSa rks & 

If a 60 W and a 100 W lamps are connected in series across a source of supply then. 
                 (a) 100 watts lamp will give more light (b)  60 watts lamp will give more light 
                 (c) Both the lamps will give equal light (d) None of the above 

98 fdlh ok;j dk LislhfQd jsftlVsal fuHkZj gksrk gS & 

The specific resistance of a wire depends on 
               (a) its length (b) its cross-sectional area 
               (c) its material (d) all the above facts 

99 fdlh lsy dh dsisflVh dks ekik tkrk gS & 

The capacity of a cell is measured in 
              (a) Ampere (b) volt 
              (c) watt (d) ampere hours 

100 izk;ejh lsy dk oksYVst fuHkZj djrk gS & 

The voltage of primary cell depends on – 

               (a) area of the plate (b) distance between the plate 
               (c) electrolyte and type of plate (d) thickness of the plate 

101 jktHkk”kk ds izk;kstu ds fy, ns’k dks fdrus {ks+=ks esa ckVk x;k gS  

                 (a)  dsoy d {ks= esa  (b) d ,oa [k {ks= esa 

                 (c)  d [k ,oa x {ks= esa (d) d [k x ,oa ?k {ks= esa 

102 Lkafo/kku ds Hkkx 5 dk dkSu lk vuqPNsn laln esa iz;qDr gksus okyh Hkk”kk ls lacaf/kr gS 

                 (a) vuqPNsn 120 (b) vuqPNsn 210 
                 (c) vuqPNsn 121 (d). vuqPNsn 221 



103 jktHkk”kk vf/kfu;e 1963 dc ikfjr gqvk \ 

                 (a) 10 ebZ 1963 (b) 7 twu 1955 

                 (c) 14 flrEcj 1949 (d) 26 tuojh 1965 

104 fgUnh dks laoS/kkfud ntkZ dc feyk \ 

                 (a) 10 ebZ 1963 (b) 7 twu 1955 

                 (c) 14 flrEcj 1949 (d) 26 tuojh 1965 

105 lalnh; jktHkk”kk lferh esa fdrus lnL; gWS\ 
 

                 (a) 10 lnL; (b) 20 lnL; 

                 (c) 30 lnL; (d) 15 lnL; 
106 fgUnh izcks/k izoh.k vkSj izkK ikB;dze dh vof/k D;k gS \ 

                (a) 6 eghus dh (b) 4 eghus dh  

                (c) 5 eghus dh (d) 6 eghus dh 
107 lkekU; dk;Z ds vfrfjDr jktHkk”kk dk;kZU;ou lfefr dk dk;Z dks ns[kus okys deZpkjh dks fdruk ekuns; fn;k 

tkrk gS \ 

                 (a) #- 500 izfrekg (b) #- 300 izfrekg 
                 (c) #- 400 izfrekg (d) #- 600 izfrekg 

108 eaMy jsy dk;kZy; dh jktHkk”kk dk;kZUo;u lfefr ds v/;{k dkSu gksrs gS \ 

                 (a) voj eaMy jsy izca/kd (b) eaMy jsy izca/kd 

                 (c) jktHkk”kk vf/kdkjh (d) eaMy fo|qr vfHk;ark ifjpkyu 

109 fdlh deZpkjh dks fgUnh iqLrdky; dk vfrfjDr dk;Z ns[kus ds fy, izfrekg fdrus #i;s fo’ks?k HkRrk ds #i esa 
feyrs gS \ 
 

                 (a) #- 500 izfrekg (b) #- 300 izfrekg 
                 (c) #- 400 izfrekg (d) #- 600 izfrekg 

110 jktHkk”kk vf/kfu;e 1963 fdl /kkjk ds rgr dsUnz ljdkj dks fu;e cukus dh ‘kfDr nh x;h gS \ 
 

                 (a) /kkjk -5 (b) /kkjk -21 
                 (c) /kkjk -9 (d) /kkjk -8 

 


